Parallel Circuit Practice Problems

Remember.... 1) Equivalent Resistance 1 =1,+1,+1;

R total R 1 R 2 R 3
2) Currentis Added (I o =1,+1,+13)

3) Potential Difference (Voltage) is the Same

1. Three resistors, 60.0-Q, 30.0-€2, and 20.0-C are connected in across a 90.0-V battery.

a) Draw a diagram and include an ammeter after the battery and before each resistor.

b) Find the current through each branch of the circuit.
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. Three 15-€ resistors are connected in parallel and placed across a 30-V battery.
a) Draw a diagram and include an ammeter afier the battery and before each resistor.
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